F18EIA/A—TU(—BF) KL

= B ERM30F9H89H(H)16H(H)23H(A)
£ 15 FEBIURMKIEYIMNR—ILIA—- BRI IR

KEHER BAE
& B BE—X BREEE HigE e (Bk/\E—X)
¥ E BR-JJ)—X =EFEFE WF K4 (Br/S\E—X)DP-1&F
% = L HRS—X BHEFE R G2 (BAE—)NEHF
% = LHhPI557 EBFSEFE B ET@HEZJ)—2X)DP-RF
1 ALDH57 (JR LU T ) ey 14
2 TLX(M s) (AEH)———— 2 13
3 RI—TA—FH (AEH)— 0 3 10
4 THIIPTAYTRR—)L (SLV=FT) 9
5 1LO4~57 (P SR ) ey 5 4
6 KEYS5D (R H)— 3 24 0
7 H"—TRE—X (B R T )y 16 5
8 RAYS SC (B& W )——— 1
9 HMHST (BN ) m—y 8
10 WINGS (WK ET)— 6 2
1 'B=H)—oX (% B ) 3 5 5
12 ELRFEWE (Bt Rt)— 2 9
13 ARy EYSD (T iR T ) =y 15
14 BEA7—X (BAEH)—— 0 10 4
15 ERIFE/NPTAVILRIFR (SN2 FE ) ey 3 1 R
16 dL/ho5T (& f )——— 0 v
17 SD CLUB (B8R #& ™) 1 10 I
18 HEIL—F—X (= F i )— 1 L z
19 WINS (% 2 fr) 0 4 0
20 RAEHYIIZT (Jjnna ) 7
21 KF/NERZ (% 7 BT) 0 7
22 CATBUS (¥ W) 3 1 9
23 FEEA1—J LR (F®R B W) 0 8
24 BRISE—R ( & ™ ) 15 9
25 EAEIT=vIRX (d Kth)— 5
26 1J/N—X (E K BT) 7 2
27 HRS—X (W F=FEH) 7 5 L
28 X wJy (8B ™) 0 0
29 EEI7A445—X (F B W) 3
30 =ZFIAFATYRBEKE ( = % HT ) 5 3 2
31 A F. R4—X (A H)— 5 6
32 1—J LR (E H ) —12




